HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

AX
SWVETRAREXEERER
EHT % BEALZFEREHR EHT % BEANLZEFEREHR BEALZEFEREHR EHT % BEALZFEREHR
L] % B L] % &t L] % &t L] % it
RF LR 0 0 0 | RFKH L 591 657 1,248
ARFEANE 0 0 0 |R=FEFI 3,020 3,125 6,145
AFTHE 0 0 0 | RFHEBHN 0 0 0
= HITET 1,454 1,446 2900 [FARXE1TH 823 900 1,723
=#5TH 1,480 1,506 2986 [FARXE2TH 569 572 1,141
=#6TH 3,965| 4,000 7,965 [FARKE3TH 1185 1205 2,390
AFERE 7,344  7,603| 14947 [ K=4TH 842 849 1,691
AFIER BRI 1,132] 1,211 2,343 | KFAEIFEAR 0 0 0
ARFEX 1,552| 1,639 3,191 | KF XK= 0 0 0
KFIERE 240 289 529
AFIEREET 176 179 355
KFHET 800 823 1,623
rFE 1,135| 1,192 2,327
ARFEBEAF 493 545 1,038
RFREFAE 2,296| 2310 4,606
ik b 271 268 539
ARFEHERAR 110 103 213
RF AR 0 0 0
ARFEAHEE 1,904 2,008 3912
KFLIRE 1,415| 1,480 2,895
RKFEZIYE 854 906 1,760
AFEREFH 375 362 737
KFZER 15 15 30
AFHEHAANFH 5 6 11
SARE1TH 33 32 65
SAREI2TH 45 38 83
EAE1TH 26 29 55
BEAE2TH 44 45 89
ZEARISTH 72 61 133
IS4 1,378 1511 2,889
KFER 476 492 968
RFE=&HMHT 224 223 447
AFHEHAR 1,036/ 1,103 2,139
KFHEF#H 907 943 1,850
RFERE 432 440 872
P £ E:] 8 B
= H 38,719 40,116 78,835




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

X
SV EFEFTILLREEETERES
EHT % BEALZEFEREHR BEANLZEFEREHR BEALZEFEREHR EHT % BEALZFEREHR
E % it E % it E] & &t E] & &t
ARFEXRE 0 0 0
RFEXE 0 0 0
KEET4TH 2580 2,746 5,326
HABE1TH 1,988 1,974 3,962
HARE2TH 2,377| 2,464 4,841
AFEHEB 0 0 0
BHER1TH 4519| 3,959 8,478
BH¥RI2TH 6,343| 6,845| 13,188
HERISTH 2424 2494 4918
¥i5BT2TH 2,122 2196 4,318
AEMES 0 0 0
ERE1TH 4311 4563 8,874
ERET2TH 2,790 2639 5,429
ERAEISTH 2,956| 3,109 6,065
ERET4TH 2,686| 2706 5,392
EHE1TH 2,969| 2809 5,778
HEHE2TH 1,772] 1,691 3,463
31l A BT 2,470 2596 5,066
ZERHET 3971 4011 7,982
WEME1TH 2,256| 2,245 4,501
WEMEI2TH 495 731 1,226
BT 1,557 1,718 3,275
XFELE 0 0 0
T =T 239 247 486
+TEE1TH 2,608| 2776 5,384
TEE2TH 2,405 2512 4917
45 FET 1,654| 1,705 3,359
REFEARE 0 0 0
S SERET 4553 4843 9,396
WE1TH 0 0 0
RBiB1TH 0 0 0
RiB2TH 0 0 0
RiB3TH 0 0 0
A = g2 Z it
H H 62,045 63,579 125,624




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

RERX
SWVEETAERERXEERER
EHT % BEANLE ﬁ%%ﬂz EHT % BEANLZEFEREHR EHT % BEALZEFEREHR EHT % BEALZFEREHR
L] % &t L] % &t L] % it L] % it
KXE6TH 183 189 372 |FET1TH 133 134 267
KXE7TH 185 218 403 |THT2TH 194 157 351
LEET1TH 2579 2685 5264 | FET3TH 957| 1,076 2,033
JL&EET2TH 1,289| 1,279 2,568 |XRET1TH 668 682 1,350
HHE1TH 506 503 1,009 [EET2TH 702 736 1,438
SHHE2TH 702 687 1,389 |t AET1TH 561 644 1,205
SHHEISTH 550 567 1,117 ¥ AET2T B 642 572 1,214
SHHET4TH 582 672 1,254 | AET3T H 507 523 1,030
EMEET1TH 494 535 1,029 | AET4T H 2,565 2,564 5,129
EEET2TH 606 627 1,233 |$RAT 2 1 3
XBEI1TH 1,855 1,890 3,745 | KALET1TH 1,835 1,805 3,640
XBEI2T H 2,042| 2125 4,167 [ KALET2TH 1,424 1,409 2,833
BORET1TH 1,883 2,002 3,885 | KAZAT3TH 1,960 1,994 3,954
RORET2T B 766 779 1,545 [#i5IET1 T B 2,795 2,903 5,698
ROAETITH 900 950 1,850 [=#1TH 3,784| 3,949 7,733
FEERT1TH 635 715 1,350 |=#82TH 2,593| 2485 5,078
FEERT2TH 1,111 1,269 2,380 |[=#&3TH 737 717 1,454
ES281TH 823 905 1,728 |=#84TH 2,181 2276 4,457
=S282TH 585 605 1,190 | E/NET 4221| 4229 8,450
=E2[3TH 268 293 561 | KE{FE1TH 0 0 0
EE84TH 2 4 6 | KEMHET2TH 0 0 0
TFE1TH 964 924 1,888 | KE{HETI3T H 0 0 0
TFH2TH 344 321 665
TFH3TH 597 587 1,184
EE1TH 70 66 136
EHE2TH 174 163 337
EHESTH 383 352 735
EE4TH 507 364 871
EHE5TH 351 225 576
KMBET1TH 8 11 19
KMET2TH 18 20 38
KMBI3TH 616 652 1,268
{hET1TH 31 22 53
{hET2TH 36 35 71
{hEI3TH 268 235 503
P £ g2 Z it
=

A 51,374 52,332 103,706




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

RAX
SWVFETREARERZEERER
EHT % BEALZEFEREHR EHT % BEANLZEFEREHR EHT % BEALZEFEREHR EHT % BEALZFEREHR
L] % &t L] % &t L] % it L] % it
RKAMEB1TH 3,661 3,742 7,403 |JNEHE1TH 1 2 3 |&EME2TH 935 930 1,865
RKIMEBT2TH 3,251 3457 6,708 [MNEHE2TH 1 0 1 |&EF3TH 1,190 1,114 2,304
RFR 5 0 5 | KFAEILFH 4 2 6 |EEF1TH 97 98 195
WE2TH 1 0 1 | KRFERI 0 1 1 |REEH2TH 185 186 371
Y 15 T 3,330| 3449 6,779 | KFRRF 288 288 576
AFE 0 0 0 | KRFXH 3,710/ 3,801 7,511
=1 2,066 2218 4,284 | KFE8 4333| 4487 8,820
EE1TH 203 218 421 | KRFRES 1,474 1,633 3,107
EE2TH 182 185 367 | RFE P98I 1,703| 1,669 3,372
BEAE1TH 1,302] 1,279 2581 | KFEETF 1,337] 1512 2,849
BARXE2TH 1,191 1,239 2430 [IRETFT1TH pal 75 146
HAE3TH 925 1,161 2086 BRET2TH 193 193 386
HAE4TH 2,245| 2279 4524 |IRET3TH 47 47 94
HAESTH 1,419 1427 2,846 | KFHiE 1,159 1,287 2,446
RA=E6TH 1,637] 1,605 3.242 | KFiRIE 305 297 602
BAE7TH 2,061 2054 4,115 iZ{E1TH 619 618 1,237
RFEHH 726 747 1,473 |R¥E2TH 479 452 931
A#1TH 161 161 322 |iF{E3TH 659 628 1,287
A#l2TH 56 53 109 [iR{E4TH 0 0 0
FHIER 9 7 16 iF{ESTH 103 93 196
RFIL 209 231 440 [ BEH1TH 1,467| 1,625 3,092
RFEER 287 249 536 |E2TH 295 371 666
Z281TH 100 90 190 |&H¥3TH 635 663 1,298
Z2%82TH 69 60 129 |B%H4TH 675 696 1,371
E583TH 283 309 592 | KF 4 I 662 661 1,323
RFEEHFH 1,718] 1,849 3,567 | AL~ IEHET 1,169 1,113 2,282
RFHEN 120 121 241 | RFEL BB 57 62 119
KFHHER 2,682 2816 5498 =~ B/E1TH 40 50 90
ARFEFEH 3,115| 3,224 6,339 =~ B/E2TH 3 4 7
ARFEFR 3,902 4,098 8,000 =~ A/E3TH 126 135 261
RF)I 3,327| 3482 6,809 =~ B/EB4ATH 37 33 70
RFELUOHMA 303 324 627 | RF/NEE 2521 2592 5,113
AFAELFFH 18 18 36 |HIET1TH 0 0 0
KFEHEIMEHE 42 29 71 [ENBT2T B 8 30 38
RKFMBAEHHA 1 2 3| EME1TH 639 664 1,303
P £ g2 Z it
= A 67,834 70,295 138,129




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

I RX
SNEThAKEFEEEAS

EHT % BEALZEFEREHR EHT % BEANLZEFEREHR EHT % BEALZEFEREHR EHT % BEALZFEREHR
L] % &t L] % &t L] % it L] % it
RFELEEE 0 0 0|/\EF4TH 244 262 506
LTEE1TH 1,213] 1,403 2616 [/\EF5TH 722 787 1,509
+L%&2TH 1,446| 1,640 3,086 | LIE1TH 666 650 1,316
+%&3TH 914 937 1,851 | EIE2TH 799 797 1,596
+L%&4TH 371 371 742 | LIE3TH 615 598 1,213
EEE5TH 808 804 1,612 | EI#4TH 406 430 836
+%&6TH 1,047 1,100 2,147 |HFFR1TH 30 27 57
LTEE7TH 1,032] 1,169 2,201 |MFFE2TH 262 276 538
L+%&8TH 649 733 1,382 |MBIaR3T B 102 122 224
+%&9TH 526 566 1,092 |MBaR4T B 452 454 906
ARFETHE 1,541 1,667 3,208 |MMFFE5T B 647 658 1,305
T%&2TH 780 840 1,620 |MBAER6 T B 65 70 135
T%&3TH 771 883 1,660 [MBa5R7 T B 235 216 451
T%&4TH 652 687 1,339 (% FE1TH 613 621 1,234
T%&5TH 539 595 1,134 [(#%FE2TH 430 408 838
T%&6TH 822 834 1,656 | ABTFE1TH 574 597 1,171
TEE&7TH 606 653 1,259 |ABIFE2T B 408 459 867
8281 TH 74 85 159 | ARBTFE3T B 761 795 1,556
$582TH 545 590 1,135 | AETFE4 T B 597 600 1,197
$83TH 579 584 1,163 | ABIFEST B 569 598 1,167
$B84TH 1,200/ 1,287 2487 |AETFEG6TH 140 158 298
$BA5TH 398 413 811 |AETE1TH 454 492 946
#8586 TH 623 595 1,218 |ABIER2T H 496 481 977
$BR7TH 1,176 1,239 2415 |[AETE3TH 482 465 947
#8588 TH 460 452 912 |AETEATH 733 768 1,501
$589TH 112 105 217 |AETES5TH 668 727 1,395
XF1TH 944 906 1,850 | AETER6TH 449 460 909
XF2TH 385 381 766 |AETE7TH 1,345 1,324 2,669
KFSTH 521 523 1,044 ¥ E1TH 844 856 1,700
KF4TH 697 766 1,463 |$ThEBE2TH 552 599 1,151
KF5TH 911 962 1,873 |$THE3TH 610 630 1,240
KF6TH 569 592 1,161 |$hB4TH 965 986 1,951
IANEFI1TH 91 95 186 [$THESTH 997| 1063 2,060
IANEF2TH 386 430 816 |FrARILy 120 136 256
ANEF3TH 822 810 1,632
A = E:] 8 B
=

A 42,268 44,267 86,535




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

X
SV ETHRERERXREERER
EHT % BEALZEFEREHR EHT % BEANLZEFEREHR EHT % BEALZEFEREHR EHT % BEALZFEREHR
L] % &t L] % &t L] % it L] % it
KFEFEIE 0 0 0 |BTI81TH 434 427 861 | KFHFIIEA 0 0 0
FAE1TH 326 308 634 |BT#2TH 361 386 747 | R HFIREHD 0 0 0
FEE2TH 888 923 1,811 |BTA3TH 662 577 1,239
FEE3TH 858 858 1,716 |BTA/4TH 349 301 650
FAE4TH 1,202 1,241 2443 | KFETE 0 0 0
FEESTH 495 493 988 |[FELE1TH 506 523 1,029
FEE6 T B 908 854 1,762 |mTiE2T B 1006| 1,023 2,029
FE7TH 1,027| 1,004 2031 | KFHE 0 0 0
FEESTH 727 729 1,456 ([ E1TH 892 932 1,824
FEEOTH 618 635 1,253 [ B2TH 367 338 705
FEE10TH 307 319 626 |E3TH 204 197 401
A= 0 0 0|784TH 324 302 626
AFHE 0 0 0 | RFXEH 0 0 0
HE1TH 695 690 1,385 |XFfI1TH 591 537 1,128
HE2TH 572 573 1,145 |Xf12TH 808 772 1,580
HE3TH 1052| 1053 2,105 |X#13TH 700 678 1,378
HE4TH 990 941 1,931 |Xf14TH 521 468 989
HE5STH 579 547 1,126 |XFI5TH 572 529 1,101
HE6TH 1,077| 1,206 2,283 |16 TH 581 511 1,092
HE7TH 72 78 150 | KFIIAR 0 0 0
HESTH 234 194 428 [LARITH 361 362 723
HE9STH 213 188 401 ILAR2TH 550 565 1,115
HE10TH 657 646 1,303 | KF EXRAK 2,084 1,992 4,076
KF$E 0 0 0 | KRFFTRAR 2,097| 1653 3,750
HE1TH 474 455 929 | KFARAZRER 2,553| 2,745 5,298
#BH2TH 198 199 397 | KF#H 2239 2152 4,391
#$BASTH 13 11 24 | KFE# 3,009| 3075 6,084
HER4TH 0 0 0| XFHER 164 174 338
ARFES 5 3 8 | KF1E 265 242 507
EIZ1TH 295 277 572 | KRFHE 797 750 1,547
Ei52TH 1,279] 1,225 2504 | KFIEXR 664 686 1,350
EIE3TH 411 374 785 | KFHAF0 0 0 0
Ei54TH 0 0 0 |#MA1TH 328 345 673
EIHE5TH 0 0 0 |#ME2TH 531 522 1,053
ARFEH 2 0 2 |#%HE3TH 150 142 292
A = E:] 8 B
= A 40,844 39,930 80,774




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

SEFIX
SWVETHIREREERESR
EHT % BEALZEFEREHR EHT % BEANLZEFEREHR EHT % BEALZEFEREHR EHT % BEALZFEREHR
L] % B L] % B L] % B L] % &t
=R1TH 677 691 1,368 [#t5B®3TH 716 820 1,536 |Hith2 T H 554 579 1,133
ERI2TH 659 705 1,364 |#t5 84T H 952| 1,260 2212 [Ri#h3TH 770 763 1,533
=RISTH 472 496 968 | ERKIF1TH 1,432] 1,633 3,065 |AKX1TH 1,613 1,856 3,469
ERI4TH 961| 1,088 2,049 | ERIF2TH 995 1,104 2,099 [AX2TH 1,184 1,271 2,455
ERI5TH 617 633 1,250 | E RIE3TH 674 670 1,344 | KA3TH 1,074| 1,185 2,259
EH6TH 767 822 1,589 [ ERIBATH 715 682 1,397 [AKX4ATH 732 795 1,527
ERI7TH 1084 1076 2,160 [ ERIF5TH 550 560 1,110 | KAS5TH 960 1003 1,963
E=:) 1,055 1,118 2173 | L RIF6TH 1099 1,138 2,237 |STET1TH 1,090/ 1,156 2,246
=2M1TH 189 231 420 | ERIB7TH 493 542 1,035 |StET2 T B 1,446 1,625 3,071
=2/2TH 312 330 642 | EKIZSTH 260 272 532 |JTtATSTH 789 843 1,632
=M3TH 507 523 1,030 [KIF1TH 543 565 1,108 [ KE1TH 1,232] 1,290 2,522
=2/4TH 651 741 1,392 [ KiG2T B 675 694 1,369 | KE2TH 778 841 1,619
EX= ) 755 813 1,568 [ KIF3T B 297 291 588 | KE3TH 561 642 1,203
HET1TH 739 877 1,616 [KIF4T B 741 774 1,515 | KF =% 5 7 12
{hET2TH 714 814 1,528 [ KIGST B 871 922 1,793 |##BA1TH 520 550 1,070
HEISTH 751 818 1,569 |$ER1TH 742 788 1,530 |##HBA2T H 704 751 1,455
hET4TH 736 818 1,554 |$ER2TH 480 502 982 |2 ILIHT 806 871 1,677
B ET 1,414] 1,553 2967 [BR3TH 799 816 1,615 [SEFI{HET1 T B 0 0 0
EH#1TH 1,363] 1,454 2817 [fBR4TH 606 638 1,244 [EIHET2T B 0 0 0
EH2TH 961 1033 1,994 |$ER5TH 485 507 992 |;HFN{FETST B 0 0 0
EHE3TH 1,479 1,706 3,185 |fBEK6TH 903 909 1,812 [HEF{HETAT B 0 0 0
EH4TH 640 721 1,361 |$AR7TH 983| 1,109 2,092
EH5TH 841 983 1,824 [H4IB1TH 669 720 1,389
EH#6TH 503 509 1,012 [#4B2TH 766 816 1,582
EH7TH 566 607 1,173 [#~ B3 TH 533 631 1,164
EH8TH 449 515 964 |~ B4 TH 675 736 1,411
EHOTH 1,435 1,506 2941 B~ IG5 T B 793 799 1,592
EH#10TH 1,386] 1,470 2,856 |BWi5F1TH 818 819 1,637
Li#EITH 1,275| 1,465 2,740 |B0i52T B 133 113 246
JLi#EF 2T H 1021 1,101 2122 | KE1TH 283 320 603
JLi#EF3ITH 1,156| 1,362 2518 | KE2TH 172 218 390
JLi#EF AT H 170 194 364 | KIE3TH 10 9 19
JLi#EFSTH 1,607 1,731 3338 | KE4TH 5 0 5
#HoyB/1TH 814 888 1,702 | KIR5TH 0 0 0
o 82TH 1,095| 1,119 2214 |Ai#h1 T H 1032| 1,108 2,140
P £ g2 Z it
=

H 66,539 72,024 138,563




HTAEZEANE BB H AR —ER

SH5EQORA1RIRAE

X
SWV-ETRHEREXEERER
EH]' % BEALZEFEREHR EH]' % BEANLZEFEREHR EH]' % BEALZEFEREHR EH]' % BEALZFEREHR
L] ES it L] ES it B S it B S it
RKAF1TH 1,079] 1,135 2214 |BIF4TH 293 290 583 |NAS5TH 1,096| 1,088 2,184
RKAHH2TH 768 780 1,548 |BIFRS T B 563 611 1,174 |NA6TH 1,045 915 1,960
EHEIIITH 1,223| 1,254 2477 |BIF6TH 752 736 1,488 |N&A7TH 788 749 1,537
E#EII2TH 1,604| 1,544 3,148 |BIFR7TH 1,428 1514 2942 |MA/1TH 644 680 1,324
EHEIISTH 3,067| 3,203 6,270 fREFE1TH 988] 1013 2,001 |BA/2TH 571 534 1,105
EEf4 T H 119 80 199 [#BF2TH 685 700 1,385 [UA3TH 620 616 1,236
ARFAHE 3,737| 3,956 7,693 |#REF3TH 986 982 1,968 |FAAREI1TH 489 558 1,047
AHE2TH 871 940 1,811 |#BF4TH 581 563 1,144 |FAXREI2T H 910 955 1,865
AHESLTH 755 814 1,569 |#RF£5TH 1,336] 1,477 2813 [#4BA1TH 483 511 994
AHESTH 1,206| 1,207 2413 |i/BE1TH 3,053| 3259 6,312 #4182 T H 204 193 397
ARFEXAEDO 7129 7452| 14581 |;BE2TH 723 731 1,454
ARFHEF 1,120] 1,115 2,235 |iB%3TH 78 45 123
RFLTBE 926 995 1,921 [BA1TH 238 219 457
HiE1TH 471 389 866 |BE2TH 280 267 547
HiE2TH 479 453 932 [BEFR1TH 504 512 1,016
HiE3TH 1,209 1,302 2511 |BBFR2TH 485 498 983
HiE4TH 1,814 1,925 3,739 |BEFR3ITH 770 819 1,589
HiE5TH 1,093| 1,131 2224 |BEFRATH 1065 1027 2,092
HiE6TH 1,119] 1,077 2196 |BEFR5TH 1,058 1028 2,086
1TH 1,180 1,174 2354 |BEFR6TH 986 928 1,914
d2TH 935 953 1,888 [BEFR7TH 1055 998 2,053
d3TH 739 805 1,544 | KF124}+ 0 0 0
4TH 1,045 962 2,007 |MAAR1TH 716 687 1,403
5TH 728 753 1,481 [#MAKR2TH 502 484 986
d6TH 275 300 575 [¥AKR3TH 626 566 1,192
7TH 789 789 1,578 [MARATH 518 488 1,006
38TH 1,051] 1,102 2,153 |#IAR1TH 747 731 1,478
XE1TH 939 972 1,911 [HAAR2TH 738 704 1,442
XEi2TH 1,337 1,324 2,661 |#IA3TH 673 660 1,333
XE3TH 1,759| 1,532 3291 |MiAR4TH 658 613 1,271
XiE4TH 1,220] 1,249 2,469 |HIARS5TH 744 736 1,480
XE5TH 1,158 1,128 2,286 |N&1TH 264 263 527
BA1TH 567 608 1,175 |N&2TH 446 421 867
B2TH 1,097 1,185 2282 |N&A3TH 787 717 1,504
R3TH 1,111 1,185 2,296 |N&4TH 838 800 1,638
P £ g2 Z it
= H 78,739 79,659 158,398




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

X
SWVETRHREEXEERER
EHT % BEALZEFEREHR EHT % BEANLZEFEREHR BEALZEFEREHR EHT % BEALZFEREHR
L] % &t L] % &t L] % it L] % it
AHEITH 1,258| 1,313 2571 | KFRB 12 10 22
AHEITH 745 740 1,485 [ILIG1T B 487 424 911
RKFEREDO 84 90 174 | KFE% 0 0 0
RIL1TH 1,412| 1524 2,936 | KF#HE 0 0 0
FEWL2TH 1,443] 1511 2,954 | KFKE 0 0 0
FEIWLSTH 703 796 1,499 [HAM1TH 118 127 245
FEWL4TH 1,553 1,707 3,260 |lRAMI2TH 671 720 1,391
ARFEGE 5897 6,318 12215 | AF3TH 643 638 1,281
RFEXREAR 2588 2713 5301 |BIF1TH 565 611 1,176
RFEXRK 996 1,071 2067 |BI5F2TH 660 640 1,300
RFFIUOFHA 131 139 270 (A K1 TH 538 598 1,136
AFERFH 0 0 0 |8 K2TH 482 500 982
RF=ZE 6,807| 7.234| 14,041 [#8R3TH 783 815 1,598
EHE1TH 476 560 1,036 |[H#EF1TH 523 574 1,097
E#HE2TH 453 495 948 |Ri#EM2TH 2072 2042 4,114
E#HE3TH 303 340 643 |FRHEMSTH 1,145 1,220 2,365
E#HE4TH 821 843 1,664 |H#EF4TH 902 919 1,821
RFEKIE 455 372 827 |R#EMS5TH 801 855 1,656
AFEERET 291 295 586 |ER;#EFM6TH 633 648 1,281
ARFEHEHH 309 272 581 |BR;#EM7TH 1,086] 1,195 2,281
RFELHH 325 239 564 |R;HEMSTH 603 663 1,266
AFES! 36 46 82 [HEFOTH 526 555 1,081
AFHKW 231 213 444 |ZXEN1TH 187 184 371
AFFWL 108 102 210 |EE2TH 65 68 133
RAFKXRM 3,873| 3,881 7,754 |XE3TH 588 587 1,175
ARFIE 42 40 82 |XE4TH 1,681] 1,688 3,369
AFHE 353 356 709 |EESTH 721 739 1,460
ARFTEHH 475 459 934 |£E6TH 355 345 700
ARFREHH 92 78 170 | KEIAR2TH 436 424 860
EAX1TH 400 382 782 | KEIA3TH 531 546 1,077
BEA2TH 627 640 1,267
ZR1TH 457 471 934
ZE2TH 394 406 800
ZIR3TH 760 777 1,537
RKF=H 1 1 2
P £ g2 Z it
= H 52,713 54,765 107,478




HTREFEANLEEHRER —ER

SH5EQORA1RIRAE

BEHX
SWVETEHREREERESR
EHT % BEALZEFEREHR EHT % BEANLZEFEREHR EHT % BEALZEFEREHR EHT % BEALZFEREHR
L] % &t L] % B L] % B L] % &t
RFEEHR 2,010/ 1,998 4,008 |FHET1 T H 407 413 820 |[RHET 454 429 883 | KF Him 124 123 247
RKFEKRH 0 0 0 |FEET2TH 647 664 1,311 [ KFRIF 685 630 1,315 | KFFE#F 568 595 1,163
AH1TH 446 456 902 |FEET3TH 465 463 928 | KFES 662 649 1,311 | KFEA 470 462 932
AH2TH 437 441 878 |FAET4 T H 625 625 1,250 | KRFEA R 394 363 309 323 632
AH3TH 47 41 88 |FHATS T B 598 614 1,212 | KRFEARFH 202 175 248 273 521
AA1TH 565 563 1,128 |Z 50T 444 447 891 | KFE T #HH 514 493 245 263 508
AA2TH 306 337 643 |B D HHET 711 707 1,418 | KRFHE 120 109 119 152 271
AASTH 487 523 1,010 |SESEHT 600 615 1,215 | KFET I 309 315 646 876 1,522
AA4TH 355 376 731 |=E1TH 361 442 803 | KFE4/I%#HH 13 20 263 360 623
A1 T H 389 393 782 |=HBI2TH 1,024 986 2,010 | KF#H L 245 240 181 190 371
A2 T B 314 305 619 | KFEEEH 27 29 56 | KF# E$H 664 663 237 245 482
MHAR1TH 205 185 390 [FFEH1TH 315 333 648 | KT % 124 95 120 143 263
FR2TH 423 449 872 [EF¥H2TH 349 392 14 | KFEER 221 183 233 246 479
FHASTH 4 3 7 |FEEHITH 435 423 858 | KFXH 672 626 543 491 1,034
HR4TH 172 170 342 |EEEHATH 334 288 622 | KRFEREF 510 453 359 328 687
WE1TH 436 448 884 [FAFEHS5TH 125 105 230 | KF/NiE 1,261] 1,265 252 265 517
WE2TH 260 263 523 | KFEE 290 263 553 | KFE A 844 833 923 906 1,829
WE3TH 212 202 414 | KFXRHS 157 128 285 | KFREEF 843 846 721 734 1,455
WE4TH 446 355 801 | KFHER 164 205 369 | KF @it 274 287 561 |EERITH 383 387 770
PWEs5T B 600 580 1,180 | KFXO 158 168 326 | KF L 309 302 611
MAR1TH 656 671 1,327 | KRFX® 122 119 241 | FBH1TH 419 424 843
WMAR2TH 556 573 1,129 | KFKF 236 216 452 | F%H2TH 190 160 350
AR 611 631 1,242 | RFHHEE 96 85 181 |[L8¥3TH 81 59 140
FHEE1TH 428 404 832 | KF K7 45 42 87 | F¥4TH 9 11 20
FEE2TH 337 368 705 | KFE 47 62 109 | F¥5TH 0 0 0
AE1TH 346 352 698 [MIE1TH 618 594 1,212 | LH6TH 197 197 394
AE2TH 405 418 823 |[ME2TH 285 324 609 | KFHY 5 216 247 463
ABISTH 333 386 719 [ME3TH 33 24 57 |[Bi7iGE1TH 12 5 17
AET4TH 418 444 862 |[MME4TH 617 586 1,203 [&i47352TH 18 9 27
ABI5TH 300 304 604 [IIE5TH 508 41 979 | KRFHEFE 51 62 113
AH6TH 307 348 655 | KF1#ER 204 196 400 | KFEHEEF 721 726 1,447
{hET1TH 610 617 1,227 | KFEEF 142 169 311 [ KFEE 510 441 951
{hET2TH 548 552 1,100 | KFEFAUE 347 323 670 | K=F# 353 321 674
RET1TH 522 506 1,028 | KFER 558 545 1,103 | KFE£E 521 509 1,030
HET2TH 385 376 761 | KFEATF 66 53 119 | KFXRE 745 784 1,529
- 5 T g
= H 47,343 47,450 94,793




